

引き算を しましょう。

1 $5\text{ L } 8\text{ dL} - 3\text{ L} = 2\text{ L } 8\text{ dL}$

2 $1\text{ L } 6\text{ dL} - 2\text{ dL} = 1\text{ L } 4\text{ dL}$

3 $2\text{ L } 9\text{ dL} - 2\text{ L} = 9\text{ dL}$

4 $5\text{ L } 7\text{ dL} - 7\text{ dL} = 5\text{ L}$

5 $3\text{ L } 4\text{ dL} - 8\text{ dL} = 2\text{ L } 6\text{ dL}$

6 $1\text{ L } 7\text{ dL} - 9\text{ dL} = 8\text{ dL}$

7 $6\text{ L } 3\text{ dL} - 6\text{ dL} = 5\text{ L } 7\text{ dL}$

8 $8\text{ L } 6\text{ dL} - 4\text{ L } 5\text{ dL} = 4\text{ L } 1\text{ dL}$

9 $9\text{ L } 7\text{ dL} - 6\text{ L } 7\text{ dL} = 3\text{ L}$

10 $10\text{ L } 8\text{ dL} - 10\text{ L } 4\text{ dL} = 4\text{ dL}$